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AR _ 42 580 21,348 21,232
HRAFEEAO 41,724 20,988 20,736
SEAMERAD 856 360 496
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Hi il FEREX HESF 2 Bt arhE | BHEE
AR 3,431 2,919 2,772 2,452 1,195 4,703 2,435 589
] 1,736 1516 1,386 1,247 603 2,378 1,138 267
S 1,695 1,403 1,386 1,205 592 2,325 1,297 322
i 1,315 1,137 1,017 999] 458 1708] 987 271
8BS i EAE [HEFMERERAMBIE] iLE fif=ka EBE LU
AR 3,312 2,298 3,084 1,252 1,192 3,341 1,237 4329
] 1,685 1,101 1,543 613 595 1,668 610 2,212
i 1,627 1,197 1,541 639 597 1,673 627 2,117
s 1,235 886 1,148 542 513 1,291 498 1,489
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Hiw il EREE HESF AR H Bt &rhE | EHEE
AR 3,369 2,896 2,739 2,389 1,160 4615 2,424 535
;] 1,717 1,505 1,363 1,215 590 2,328 1,133 241
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AR 3,270 2,250 3,063 1,136 1,074 3,286 1,222 4274
;] 1,665 1,092 1,534 568 533 1,659 605 2,198
S 1,605 1,158 1,529 568 541 1,627 617 2,076
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AR 62 23 33 63 35 88 11 54
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AR 42 48 21 116 118 55 15 55
;] 20 9 9 45 62 9 5 14
kS 22 39 12 71 56 46 10 41
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